Silly Puzzles to confound you
A Weighty Problem: I have ten boxes, with a total weight of 75kg: 15 kg, 13 kg, 11 kg, 10 kg, 9 kg, 8 kg, 4 kg, 2 kg, 2 kg, 1 kg. I want to pack the boxes into 3 crates, but each crate can carry a maximum of 25 kg. How can I pack the boxes into the crates? There may be more than one way!
Birthday: When asked about his birthday, a man said: "The day before yesterday I was only 25 and next year I will turn 28." This is true only one day in a year - when was he born?
One More Square: Seven matchsticks form two squares as shown in the figure. Move three matchsticks to get three squares. You can rotate matchsticks, but you can't overlap and/or damage them.
Answers on Page XX
https://www.mathsisfun.com/puzzles/a-weighty-problem.html
